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; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ — - -
ZzhLs 1.00 | 0.00 ~ 647 81.53 | FnLs | 000 ~ 647| 1.91 9.64 Zzh s 1.00 | 5.00 ~ 8.10 81.53 | =hs | 65.00 ~ 810 1.91 9.64
2 100kN/MZ#8% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/MZ#Z 5 — - ~ — — |3mZE#BZ B - ~ — - -
ZzhLs 1.00 | 0.00 ~ 7.41 94.51 | #hdst | 0oo ~ 000|176 8.90 ZzhLs 1.00 | 5.00 ~ 9.60 94.51 | =R | 5.00 ~ 9.60 )| 1.76 8.90
3 100kN/MZ#B % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ — - -
ZzhnLst 1.00 000 ~ 735 93.71 | #hdst | 000 ~ 7.35|1.84 9.28 ZzhLs 1.00 | 5.00 ~ 9.60 93.71 | =S | 5.00 ~ 9.60 | 1.84 9.28
4 100kN/m%#BZ5| 1.00 | 000 ~ 053 107.79 |3mZEBzB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1055 ~ 1200 107.79 |3m&EBZ5 -~ — — —
zhst 1.00 | 0563 ~ 831 100.00 | Fhilst | 000 ~ 831|222 11.21 Fh st 1.00 | 5.00 ~ 1055 100.00 | TN | 5,00 ~ 1200| 2.22 11.21
5 100kN/m%#BZ25| 1.00| 000 ~ 1.06| 116.01 |3mZEBz3%| — ~ — — — | 100kN/mi%# 25 | 1.00 | 10.79 ~ 14.00| 116.01 |3m&EBZ5 -~ — — —
ZzhLs 1.00 | 1.06 ~ 885 100.00 | =0 | 000 ~ 885|230 11.656 ZzhLs 1.00 | 5.00 ~ 10.79 100.00 | #nst | .00 ~ 14.00 | 2.30 11.656
g 100kN/m#Z#BZ5| 1.00 | 000 ~ 1.35| 120.43 |3mZEBZB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1055 ~ 1500 120.43 |3m&EBZ5 - ~ — — —
ZzhnLst 1.00 135 ~ 913 100.00 | =0 | 000 ~ 913|235 11.85 ZzhLs 1.00 | 5.00 ~ 10.55 100.00 | #nLSt | 6.00 ~ 15.00 | 2.35 11.856
7 100kN/mM#Z#BZ5| 1.00 | 000 ~ 204| 13156 |3mZEBZB| — ~ — — — | 100kN/mi% 25 | 1.00 | 11.23 ~ 19.00| 131.56 |3m&EBZ5 -~ — — —
Fhs 1.00 | 204 ~ 9.83 100.00 | =nst | 0.00 ~ 9.83| 2.59 13.09 Fh s 1.00 | 5.00 ~ 11.23| 100.00 | 0L | 5.00 ~ 19.00| 2.569 13.09
s 100kN/mM#Z#BZ5| 1.00 | 000 ~ 1.45| 121.99 |3mZEBZB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.17 ~ 1600 121.99 |3m&EBZ5 -~ — — —
Fhs 1.00 | 1.46 ~ 9.23 100.00 | #ns | 0.00 ~ 923|258 13.04 Fhs 1.00|5.00 ~ 11.17| 100.00 | 0S| 5.00 ~ 16.00| 2.568 13.04
9 100kN/mM&E#BZ 5| 1.00 | 0.00 ~ 1.50 122.78 |3m&x#EZH| — ~ — — — | 100kN/mi% 25 | 1.00 | 1287 ~ 19.00| 122.78 |3m&EBZ5 - ~ — — —
st 1.00 | 1.50 ~ 9.28 100.00 | =nLS | 000 ~ 928277 14.01 zhLs 1.00 | 5.00 ~ 1287 100.00 | #ns | .00 ~ 19.00|2.77 14.01
10 100kN/mM%#BZ5 | 1.00 | 0.00 ~ 1.21 118.21 |3mZE#BAB| — ~ — — — | 100kN/mi% 25 | 1.00 | 1381 ~ 19.00| 11821 |3m&EBZ5 -~ — — —
Fhs 100|121 ~ 899 100.00 | Fhist | 000 ~ 899|284 14.37 zhst 1.00 | 5.00 ~ 1381 100.00 | =hs | 5,00 ~ 19.00| 2.84 14.37
17 100kN/mM%#BZ5| 1.00 | 000 ~ 1.50| 12278 |3mZEBz3%| — ~ — — — | 100kN/mi%# 25 | 1.00 | 1287 ~ 19.00| 122.78 |3m&EBZ5 -~ — — —
Fhs 1.00 | 1.50 ~ 9.28 100.00 | =nst | 000 ~ 928|277 14.01 st 1.00|5.00 ~ 1287 100.00 | FnLS | 5,00 ~ 19.00|2.77 14.01
19 100kN/mMZE#BZ 5| 1.00 | 0.00 ~ 2.04 131.66 |3m&xEZH| — ~ — — — | 100kN/mi% 2% | 1.00 | 11.23 ~ 19.00| 131.56 |3m&EBZ5 - ~ — — —
ZhLst 1.00 | 204 ~ 9.83 100.00 | #nst | 0.00 ~ 9.83| 2.59 13.09 Zhs 1.00|5.00 ~ 11.23| 100.00 | TN | 5.00 ~ 19.00| 2.569 13.09
100kN/MZ#B % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#8% % ~ ImEBZD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
Zh st ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#B 2% ~ ImEHBZS ~
Zh st ~ ZNLS ~ Zh st ~ ZNLS ~




